Osum P, [ An deltap O

Ratio to ATLAS

[EEY

0.5

13000 GeV pp

Underlying Event
I I B B

1 [~ 1T 1117 T ]
B 2(p,) vsAg(inl <2.5,p >0.5GeV, p_>5GeV) |
[ m ATLAS _
- A Pythia 8.308 default 7
| Pythia 8.308 tune-1 _
. Pythia 8.308 tune-2c¢ ]
L Pythia 8.308 tune-2m _
_‘ﬁ\ |
X _
- .\A& -
-~ _
_l —1 | | | | | | | | 1 | | | | | | I_
| T T T | T T T T | T T T T | T T T

3
>
I

'
>
»

i A
J v v
A
A AAA A
AA A A s A A p 4 AfpA A s A AT T A4
= A e A T T

150
|A @ [degrees]

Rivet 3.1.10, = 2.1M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


